

**MATRIX CONTINUED FRACTIONS AND THE EXPANSIONS
OF SOME FUNCTIONS OF BESSEL**

Kacem Belhrokia and Ali Kacha

Department of Mathematics
Ibn Tofail University
Laboratory AMGNCA
Kenitra 14 000, Morocco

Received February 6, 2016

Abstract

In this paper we recall some results of matrix functions with real coefficients. The aim of this paper is to provide some properties and results of continued fractions with matrix arguments. Then we give continued fractions expansions of Bessel functions $J_0(A)$ and $J_1(A)$ where A is matrix.

Mathematic subject classification. 40A15, 15A60, 47A63.

Keywords: Matrix continued fraction, convergence criterion, development of series, Bessel function.

1 Introduction and motivation

Using Padé approximants, equivalents to continued fraction approximants of the matrix exponential, Varga [10] studied and analyzed certain discrete approximations to solutions of self-adjoint parabolic differential equations. The matrix continued fraction used by Varga is an example of noncommutative continued fractions about which not much is known. Thus, the theory of continued fractions whose elements are operators have many applications in various areas of mathematics and allow an acceleration of the convergence of a number of approximations. In this direction, and generally in a Banach space, few convergence results on non-commutative continued fractions are known. Two theorems are cited by Wynn [11], where he gives some aspects for the theory of continued fractions which the elements do not commute. In Banach spaces, generalizations of some results of real cases are published by Haydan [2] and Negoescu [8]. In [9], note that we gave a criterion provides a necessary condition for the convergence of the noncommutative matrix continued fraction of the form $K(I/A_n)$, that we have generalized to the case of $K(B_n/A_n)$. We also expressed a sufficient condition for the convergence of $K(B_n/A_n)$.

In this work, we quote some early results that link the elements, the numerators and denominators of convergent continued fractions matrices. Then, We recall some fundamental relations of these fractions we will need later. Towards the end, we give the continued fractions expansions of certain Bessel functions $J_0(A)$ and $J_1(A)$ of a matrix A after proving the convergence of these developments.

2 Definitions and notations

2.1 Generalities

Throughout, we denote by \mathcal{M}_m the set of $m \times m$ real (complex) matrices endowed with the classical norm defined by

$$\forall A \in \mathcal{M}_m, \quad \|A\| = \sup_{x \neq 0} \left\{ \frac{\|Ax\|}{\|x\|} \right\} = \sup\{\|Ax\|, \|x\| = 1\}. \quad (1)$$

This norm satisfies the inequality $\|AB\| \leq \|A\| \|B\|$.

Let $A \in \mathcal{M}_m$, A is said to be positive semidefinite (resp. positive definite) if A is symmetric and

$$\forall x \in R^m, \langle Ax, x \rangle \geq 0 \quad (\text{resp. } \forall x \in R^m, x \neq 0, \langle Ax, x \rangle > 0)$$

where $\langle \cdot, \cdot \rangle$ denotes the standard scalar product of R^m defined by $x = (x_1, \dots, x_m) \in R^m, y = (y_1, \dots, y_m) \in R^m : \langle x, y \rangle = \sum_{i=1}^m x_i y_i$.

We observe that positive semidefiniteness induces a partial ordering on the space of symmetric matrices: if A and B are two symmetric, we write $A \leq B$ if $B - A$ is positive semidefinite. Henceforth, whenever we say that $A \in \mathcal{M}_m$ is positive semidefinite (or positive definite), it will be assumed that A is symmetric. It is easy to see that if $A \leq B$ then $CAC \leq CBC$ for all symmetric matrix C .

For any $A, B \in \mathcal{M}_m$ with B invertible, we write $\frac{A}{B} = B^{-1}A$. In particular, if $A = I$, where I is the m^{th} order identity matrix, then we write $\frac{I}{B} = B^{-1}$. It is clear that for any invertible matrix C , we have

$$\frac{CA}{CB} = \frac{A}{B} \neq \frac{AC}{BC}. \quad (2)$$

Definition 2.1 Let $(A_n)_{n \geq 0}, (B_n)_{n \geq 1}$ be two nonzero sequences of \mathcal{M}_m . The continued fraction of (A_n) and (B_n) denoted by $K(B_n/A_n)$ is the quantity

$$A_0 + \frac{B_1}{A_1 + \frac{B_2}{A_2 + \dots}} = \left[A_0; \frac{B_1}{A_1}, \frac{B_2}{A_2}, \dots \right].$$

Sometimes, we use briefly the notation

$$\left[A_0; \frac{B_k}{A_k} \right]_{k=1}^{+\infty}. \quad (3)$$

The fractions $\frac{B_n}{A_n}$ and $\frac{p_n}{q_n} = \left[A_0; \frac{B_k}{A_k} \right]_{k=1}^n$ are called, respectively, the n^{th} partial quotient and the n^{th} convergent of the continued fraction $K(B_n/A_n)$.

When $B_n = I$ for all $n \geq 1$, then $K(I/A_n)$ is called an ordinary continued fraction.

Proposition 2.2 The elements $(P_n)_{n \geq -1}$ and $(Q_n)_{n \geq -1}$ of the n^{th} convergent of $K(B_n/A_n)$ are given by the relationships

$$\begin{cases} P_{-1} = I, & P_0 = A_0 \\ Q_{-1} = 0, & Q_0 = I \end{cases} \quad \text{and} \quad \begin{cases} P_n = A_n P_{n-1} + B_n P_{n-2} \\ Q_n = A_n Q_{n-1} + B_n Q_{n-2} \end{cases}, \quad n \geq 1. \quad (4)$$

Proof. We prove it by induction. The proof of the next proposition is elementary and we left it to the reader.

Proposition 2.3 *For any two matrices C and D with C invertible, we have*

$$C \left[A_0, \frac{B_k}{A_k} \right]_{k=1}^n D = \left[CA_0D; \frac{B_1D}{A_1C^{-1}}, \frac{B_2C^{-1}}{A_2}, \frac{B_k}{A_k} \right]_{k=3}^n. \quad (5)$$

2.2 Definition of convergent matrix continued fraction

The continued fraction $K(B_n/A_n)$ converges in \mathcal{M}_m if the sequence $(F_n) = (\frac{P_n}{Q_n}) = (Q_n^{-1}P_n)$ converges in \mathcal{M}_m in the sense that there exists a matrix $F \in \mathcal{M}_m$ such that $\lim_{n \rightarrow +\infty} \|F_n - F\| = 0$. In the other case, we say that $K(B_n/A_n)$ is divergent. It is clear that

$$\frac{P_n}{Q_n} = A_0 + \sum_{i=1}^n \left(\frac{P_i}{Q_i} - \frac{P_{i-1}}{Q_{i-1}} \right). \quad (6)$$

From (5), we see that the continued fraction $K(B_n/A_n)$ converges in \mathcal{M}_m if and only if the series $\sum_{n=1}^{+\infty} (\frac{P_n}{Q_n} - \frac{P_{n-1}}{Q_{n-1}})$ converge in \mathcal{M}_m .

3 Convergence of continued fraction of the form $K(B_n/A_n)$

3.1 Equivalent continued fractions

Definition 3.4 *Let $(A_n), (B_n), (C_n)$ and (D_n) be four sequences of matrices. We say that the continued fractions $K(B_n/A_n)$ and $K(D_n/C_n)$ are equivalent if we have $F_n = G_n$ for all $n \geq 1$, where F_n and G_n are the n^{th} convergent of $K(B_n/A_n)$ and $K(D_n/C_n)$ respectively.*

Now, we will present two lemmas concerning the real continued fractions which are important in the sequel.

Lemma 3.5 ([4]) Let (r_n) be a non-zero sequence of real numbers. The continued fractions

$$\left[a_0; \frac{b_1}{a_1}, \frac{b_2}{a_2}, \frac{b_3}{a_3}, \dots \right] \text{ and } \left[a_0; \frac{r_1 b_1}{r_1 a_1}, \frac{r_2 r_1 b_2}{r_2 a_2}, \frac{r_3 r_2 b_3}{r_3 a_3}, \dots \right] \quad (7)$$

are equivalent.

In the following lemma, from the development of a function given by the Taylor series, we give the development in continued fractions of the series that was established by Euler.

Lemma 3.6 ([5]) Let f be a function with the Taylor serie development is $f(x) = \sum_{n=0}^{+\infty} c_n x^n$ in $D \subset \mathbb{R}$. Then, the development in continued fraction of $f(x)$ is

$$\begin{aligned} f(x) &= \sum_{n=0}^{+\infty} c_n x^n \\ &= \left[c_0; \frac{c_1 x}{1}, \frac{-c_2 x}{c_1 + c_2 x}, \frac{-c_1 c_3 x}{c_2 + c_3 x}, \dots, \frac{-c_{n-2} c_n x}{c_{n-1} + c_n x}, \dots \right] \\ &= \left[\frac{c_0}{1}, \frac{-c_1 x}{c_0 + c_1 x}, \frac{-c_0 c_2 x}{c_1 + c_2 x}, \frac{-c_1 c_3 x}{c_2 + c_3 x}, \dots, \frac{-c_{n-2} c_n x}{c_{n-1} + c_n x}, \dots \right]. \end{aligned}$$

Remark 3.7 Let (A_n) and (B_n) be two sequences of \mathcal{M}_m , we notice that we can write the first convergents of the continued $K(B_n/A_n)$ by:
 $F_1 = A_0 + A_1^{-1} B_1 = A_0 + (B_1^{-1} A_1)^{-1}$,

$$\begin{aligned} F_2 &= A_0 + (A_1 + A_2^{-1} B_2)^{-1} B_1 \\ &= A_0 + (B_1^{-1} A_1 + (B_2^{-1} A_2 B_1^{-1})^{-1})^{-1}. \end{aligned}$$

If we put, $A_1^* = B_1^{-1} A_1$ and $A_2^* = B_2^{-1} A_2 B_1$, we have

$$F_1 = A_0 + \frac{I}{A_1^*}, \quad F_2 = A_0 + \frac{I}{A_1^* + A_2^*}. \quad (8)$$

Generally, we prove by a recurrence that if we put for all $k \geq 1$,

$$A_{2k}^* = (B_{2k} \dots B_2)^{-1} A_{2k} B_{2k-1} \dots B_1 \quad \text{and} \quad A_{2k+1}^* = (B_{2k+1} \dots B_1)^{-1} A_{2k+1} B_{2k} \dots B_2, \quad (9)$$

then the continued fractions $A_0+K(B_n/A_n)$ and $A_0+K(I/A_n^*)$ are equivalent.

It follows that the convergence of one of these continued fractions implies the convergence of the other continued fraction.

3.2 Convergence criteria of $K(B_n/A_n)$

Theorem 3.8 ([9]) *Let $(A_n)_{n \geq 0}$ be a sequence of \mathcal{M}_m . If the continued fraction $K(I/A_n)$ converges in \mathcal{M}_m , then the series $\sum_{n=0}^{\infty} \|A_n\|$ diverges.*

From theorem 3.7, we deduce the following corollary.

Corollary 3.9 *If the series $\sum_{n=0}^{\infty} \|A_n\|$ converges absolutely in \mathcal{M}_m , then the ordinary continued fraction $K(I/A_n)$ diverges in \mathcal{M}_m .*

We recall here a criteria that gives a sufficient condition for the convergence of continued fraction in \mathcal{M}_m .

Theorem 3.10 ([9]) *Let $(A_n), (B_n)$ be two sequences of \mathcal{M}_m . If*

$$\|(B_{2k-2} \dots B_2)^{-1} A_{2k-1}^{-1} B_{2k-1} \dots B_1\| \leq \alpha \text{ and } \|(B_{2k-1} \dots B_1)^{-1} A_{2k}^{-1} B_{2k} \dots B_2\| \leq \beta \quad (10)$$

for all $k \geq 1$, where $0 < \alpha < 1$, $0 < \beta < 1$ and $\alpha\beta \leq 1/4$, then the continued fraction $K(B_n/A_n)$ converges in \mathcal{M}_m .

4 Main results

4.1 Some reminders about Bessel functions

Bessel functions occupy a very important place in the problems solutions with cylindrical symmetry. We can say that they are important in the hierarchy of functions which are necessities to tabulate. Bessel functions come immediately after the trigonometric functions, logarithm and exponential function

but it is customary to fit them in the class of so-called special functions. There are many books deal with remarkable properties of these functions. Our goal is to show how to write the development of continued fraction of Bessel functions $J_0(x)$ and $J_1(x)$ and to study the convergence of these functions.

The following differential equation

$$x^2 \frac{d^2 F}{dx^2}(x) + x \frac{dF}{dx}(x) + (x^2 - v^2) F(x) = 0$$

is called Bessel differential equation of order v where v is a real number. The solution of this equation can be written by

$$F(x) = C_1 J_v(x) + C_2 Y_v(x)$$

where J_v and Y_v are Bessel functions of order v of the first and second kinds respectively which are given by:

$$J_v(x) = \left(\frac{x}{2}\right)^v \sum_{k=0}^{\infty} \frac{(-1)^k \left(\frac{x}{2}\right)^{2k}}{k! \Gamma(v+k+1)}, \quad |\arg x| < \pi, \quad v \in C$$

where Γ is gamma function and

$$Y_v(x) = \frac{J_v(x) \cos(\pi v) - J_{-v}(x)}{\sin(\pi v)}, \quad |\arg x| < \pi, \quad v \in C \setminus Z.$$

Let $n \in N$, we define the Bessel function J_n of index n . The power series of J_n is

$$J_n(x) = \left(\frac{x}{2}\right)^n \sum_{k=0}^{+\infty} \frac{(-1)^k}{k! (n+k)!} \left(\frac{x}{2}\right)^{2k}.$$

4.2 Continued fractions expansions of $J_0(A)$ and $J_1(A)$

4.2.1 Convergence of $J_0(A)$

Let us consider $x \in R$, the power series of $J_0(x)$ can be written by

$$J_0(x) = \sum_{k=0}^{\infty} (-1)^k \frac{\left(\frac{x}{2}\right)^{2k}}{(k!)^2}.$$

We search the development of continued fraction of $J_0(x)$ which is in the form $K(b_n/a_n)$.

Lemma 4.11 *The continued fraction expansion of $J_0(x)$ is given by*

$$J_0(x) = \left[1; \frac{-x}{4}, \frac{x^2}{4^2 - x^2}, \frac{(-1)^n \cdot x^{n-1}}{4^{n-2}((n-2)!)^2(4n^2 - x^2)} \right]_{n=3}^{+\infty}.$$

Proof. We use Lemma 3.6 for the function:

$J_0(x) = \sum_{k=0}^{\infty} (-1)^k \frac{\left(\frac{x}{2}\right)^{2k}}{(k!)^2} = \sum_{k=0}^{\infty} \frac{(-1)^k (x)^k}{4^k (k!)^2} x^k$, by putting $C_n = \frac{(-1)^n}{(n!)^2 4^n} x^n$.
For $n \geq 3$, we get that :

$$\begin{aligned} C_{n-2} \cdot C_n &= \frac{(-1)^{n-2}}{((n-2)!)^2 4^{n-2}} x^{n-2} \cdot \frac{(-1)^n}{(n!)^2 4^n} x^n \\ &= \frac{(-1)^{2n-2} x^{2n-2}}{(n!)^2 ((n-2)!)^2 4^{2n-2}} \end{aligned}$$

Furthermore, we have

$$\begin{aligned} C_{n-1} + C_n x &= \frac{(-1)^{n-1} x^{n-1}}{((n-1)!)^2 4^{n-1}} + \frac{(-1)^n \cdot x^{n+1}}{(n!)^2 4^n} \\ &= \frac{(-1)^{n-1} x^{n-1} [4(n!)^2 - ((n-1)!)^2 \cdot x^2]}{((n-1)!n!)^2 4^n} \\ &= \frac{(-1)^{n-1} (4n^2 - x^2)}{4^n (n!)^2} x^{n-1} \end{aligned}$$

As a result,

$$\begin{aligned} \frac{C_{n-2}C_n}{C_{n-1} + C_n x} &= \frac{(-1)^{n-2} x^{2n-2}}{(n!(n-2)!)^2 4^{2n-2}} \cdot \frac{4^n (n!)^2}{(-1)^{n-1} (4n^2 - x^2) \cdot x^{n-1}}, \quad n \geq 3 \\ &= \frac{(-1)^{n-1} x^{n-1}}{4^{n-2} ((n-2)!)^2 (4n^2 - x^2)}. \end{aligned}$$

In particular, we have

$$C_0 = 1, \quad C_1 = \frac{-x}{4}, \quad C_2 = \frac{1}{4^3}x^2, \quad \frac{C_2x}{C_1 + C_2x} = \frac{x^2}{x^2 - 4^2}.$$

Therefore, the development of continued fraction of $J_0(x)$ is

$$J_0(x) = \left[1; \frac{\frac{-x}{4}}{1}, \frac{x^2}{4^2 - x^2}, \frac{-x^2}{4^1(4^3 - x^2)}, \frac{(-1)^n x^{n-1}}{4^{n-2}((n-2)!)^2(4n^2 - x^2)} \right]_{n=4}^{\infty}.$$

Now, we treat the matrix case of $J_0(x)$.

Theorem 4.12 *Let A be a matrix of \mathcal{M}_m , such that $\|A\| = \alpha$ where $\alpha \in \mathbb{R}$ and $\alpha < \frac{1}{2}$. The continued fraction*

$$\left[I; \frac{\frac{-A}{4}}{I}, \frac{A^2}{4^2I - A^2}, \frac{(-1)^n A^{n-1}}{4^{n-2}((n-2)!)^2(4n^2I - A^2)} \right]_{n=3}^{+\infty}$$

converges in \mathcal{M}_m . Furthermore, the previous continued fraction is the continued fraction of $J_0(A)$ so

$$J_0(A) = \left[I; \frac{\frac{-A}{4}}{I}, \frac{A^2}{4^2I - A^2}, \frac{(-1)^n A^{n-1}}{4^{n-2}((n-2)!)^2(4n^2I - A^2)} \right]_{n=3}^{+\infty}.$$

Before proving this theorem we need to present the following proposition:

Proposition 4.13 *([7]) Let $C \in \mathcal{M}_m$ such that $\|C\| < 1$, then the matrix $I - C$ is invertible and we have*

$$\|(I - C)^{-1}\| \leq \frac{1}{1 - \|C\|}.$$

Proof of theorem 4.12 We study the convergence of the continued fraction $A_0 + K(B_k/A_k)$ with

$$\begin{cases} A_0 = I, & A_1 = I, & A_2 = 4^2I - A^2, \\ B_1 = -A/4, & B_2 = A^2 \end{cases}$$

$$\text{and} \quad \begin{cases} B_k &= (-1)^k A^{k-1} \\ A_k &= 4^{k-2} ((k-2)!)^2 (4k^2 I - A^2) \end{cases} \quad \text{for } k \geq 3.$$

Check that the conditions of theorem 3.10 are satisfied. We have

$$B_{2k-2} \dots B_2 = \pm A^{(2k-3)+(2k-5)+\dots+3+2},$$

$$A_{2k-1}^{-1} = \frac{1}{4^{2k-3} ((2k-3)!)^2} (4(2k-1)^2 I - A^2)^{-1} \quad \text{and}$$

$$B_{2k-1} B_{2k-3} \dots B_1 = \frac{1}{4} A^{(2k-2)+(2k-4)+\dots+2+1}.$$

Then,

$$\begin{aligned} \|(B_{2k-2} \dots B_2)^{-1} A_{2k-1}^{-1} B_{2k-1} \dots B_1\| &= \left\| \left(A^{(2k-3)+(2k-5)+\dots+3+2} \right)^{-1} \frac{1}{4^{2k-3} ((2k-3)!)^2} \times \right. \\ &\quad \left. (4(2k-1)^2 I - A^2)^{-1} \frac{1}{4} A^{(2k-2)+(2k-4)+\dots+2+1} \right\|. \\ &\leq \frac{1}{4^{2k-2} ((2k-3)!)^2} \left\| A^{-[(2k-3)+(2k-5)+\dots+3+2]} \times \right. \\ &\quad \left. (4(2k-1)^2 I - A^2)^{-1} A^{(2k-2)+\dots+2+1} \right\|. \end{aligned}$$

Now, the matrices $(4(2k-1)^2 I - A^2)^{-1}$ and $A^{(2k-2)+(2k-4)+\dots+2+1}$ commute, so the above inequality becomes

$$\begin{aligned} \|(B_{2k-2} \dots B_2)^{-1} A_{2k-1}^{-1} B_{2k-1} \dots B_1\| &\leq \frac{1}{4^{2k-1} ((2k-3)!)^2} \frac{1}{(2k-1)^2} \times \\ &\quad \left\| \left(I - \frac{A^2}{4(2k-1)^2} \right)^{-1} \frac{A^{2k-2} \dots A^2 A}{A^{2k-3} \dots A^3 A^2} \right\|. \end{aligned}$$

According to proposition (4.13) and the fact that $\|A\| < 1$, we obtain

$$\left\| \left(I - \left(\frac{A}{2(2k-1)} \right)^2 \right)^{-1} \right\| \leq \frac{1}{1 - \left\| \frac{A}{2(2k-1)} \right\|^2} < 1.$$

It implies that for k large enough, we get

$$\|(B_{2k-2} \dots B_2)^{-1} A_{2k-1}^{-1} B_{2k-1} \dots B_1\| < \|A\| = \alpha < \frac{1}{2}.$$

To prove the second inequality of theorem (3.10), we have

$$\begin{aligned}
 (B_{2k-1} \dots B_1)^{-1} A_{2k}^{-1} B_{2k} \dots B_2 &= \pm 4 \frac{(A^{(2k-2)+\dots+2+1})^{-1}}{4^{2k-2} ((2k-2)!)^2} (16k^2 I - A^2)^{-1} \times \\
 &\quad A^{(2k-1)+\dots+3+2} \\
 &= \pm \frac{(A^{(2k-2)+\dots+2+1})^{-1}}{4^{2k-1} ((2k-2)!)^2 k^2} \left(I - \left(\frac{A}{16k} \right)^2 \right)^{-1} \times \\
 &\quad A^{(2k-1)+\dots+3+2}
 \end{aligned}$$

Again using the fact that the matrices $(16k^2 I - A^2)^{-1}$, $A^{(2k-1)+\dots+3+2}$ commute, the proposition (4.13) and passing to the norm, we get

$$\left\| (B_{2k-1} \dots B_1)^{-1} A_{2k}^{-1} B_{2k} \dots B_2 \right\| \leq \frac{1}{4^{2k-1} ((2k-2)!)^2 k^2} \|A\| < \alpha < \frac{1}{2}$$

which completes the proof.

4.2.2 Convergence of $J_1(A)$

Let x be a real number, the power series expansion of $J_1(x)$ is

$$J_1(x) = \sum_{k=0}^{\infty} (-1)^k \frac{\left(\frac{x}{2}\right)^{2k+1}}{k!(k+1)!}.$$

In the next lemma, we give its continued fraction expansion.

Lemma 4.14 *The continued fraction expansion of $J_1(x)$ is given by*

$$J_1(x) = \left[\frac{x}{2}; \frac{\frac{-x^3}{2^4}}{1}, \frac{x^2}{(2^3 \cdot 3! - x^2)}, \frac{(-1)^n x^{n+1}}{2^{2n-3} (n-2)! (n-1)! (4n(n+1) - x^2)} \right]_{n=3}^{+\infty}.$$

Proof. We have

$$J_1(x) = \sum_{k=0}^{\infty} (-1)^k \frac{\left(\frac{x}{2}\right)^{2k+1}}{k!(k+1)!} = \sum_{k=0}^{\infty} \frac{(-1)^k x^{k+1}}{2^{2k+1} k!(k+1)!} x^k,$$

taking $C_n = (-1)^n \frac{1}{2^{2n+1}} \cdot \frac{x^{n+1}}{n!(n+1)!}$ for $n \geq 1$, we find

$$C_{n-2}C_n x = \frac{x^{2n+1}}{2^{4n-2} (n-2)! (n-1)! n! (n+1)!} \text{ for all } n \geq 3.$$

Furthermore, we obtain

$$C_{n-1} + C_n x = \frac{(-1)^{n-1} \cdot x^n}{2^{2n-1} (n-1)! n!} \cdot \frac{4n(n+1) - x^2}{2^{2n} (n+1)}.$$

As a result,

$$\frac{C_{n-2}C_n x}{C_{n-1} + C_n x} = \frac{(-1)^{n-1} \cdot x^{n+1}}{2^{2n-3} (n-2)! (n-1)! (4n(n+1) - x^2)}.$$

In particular case, we have

$$C_0 = \frac{x}{2}, \quad C_1 = \frac{-x^2}{2^4}, \quad C_2 = \frac{x^3}{2^6 \cdot 3!}, \quad \frac{-C_2 x}{C_1 + C_2 x} = \frac{x^2}{(2^2 \cdot 3! - x^2)}.$$

Hence, the continued fraction expansion of $J_1(x)$ is

$$J_1(x) = \left[\frac{x}{2}; \frac{-x^3}{2^4}, \frac{x^2}{(2^2 \cdot 3! - x^2)}, \frac{(-1)^n x^{n+1}}{2^{2n-3} (n-2)! (n-1)! (4n(n+1) - x^2)} \right]_{n=3}^{+\infty}.$$

Then, we treat the matrix case.

Theorem 4.15 *Let A be a matrix of \mathcal{M}_m such that $\|A\| = \alpha$ where $\alpha \in \mathbb{R}$ and $\alpha < \frac{1}{2}$. The continued fraction*

$$\left[\frac{A}{2}; \frac{-A^3}{2^4}, \frac{A^2}{(2^2 \cdot 3! I - A^2)}, \frac{(-1)^n \cdot A^{n+1}}{2^{2n-3} (n-2)! (n-1)! (4n(n+1) I - A^2)} \right]_{n=3}^{+\infty}$$

converge in \mathcal{M}_m . Furthermore, the previous continued fraction is the continued fraction expansion of $J_1(A)$. Hence,

$$J_1(A) = \left[\frac{A}{2}; \frac{-A^3}{2^4}, \frac{A^2}{(2^2 \cdot 3! I - A^2)}, \frac{(-1)^n A^{n+1}}{2^{2n-3} (n-2)! (n-1)! (4n(n+1) I - A^2)} \right]_{n=3}^{+\infty}.$$

Proof. We study the convergence of the continued fraction $A_0 + K(B_k/A_k)$ with :

$$\begin{cases} A_0 = I, & A_1 = I, & A_2 = 2^4 (2^2 \cdot 3! I - A^2), \\ B_1 = -A^2/4, & B_2 = A^2, \end{cases}$$

and for $k \geq 3$,

$$\begin{cases} B_k = (-1)^{k-1} A^{k+1}, \\ A_k = 2^{2k-3} (k-2)! (k-1)! (4k(k+1)) I - A^2 \end{cases}$$

By the same manipulation as in $J_0(A)$, we show that the condition of Theorem 3.10 are satisfied.

$$B_{2k-2} \dots B_2 = \pm A^{(2k-1)+(2k-3)+\dots+5+2},$$

$$A_{2k-1}^{-1} = \frac{1}{2^{2k-4} (2k-3)! (2k-2)! 2k(8k-4)} \left(I - \frac{A^2}{2k(8k-4)} \right)^{-1},$$

then

$$\begin{aligned} \left\| \left((B_{2k-2} \dots B_2)^{-1} \right) A_{2k-1}^{-1} B_{2k-1} \dots B_1 \right\| &= \left\| \frac{A^{-((2k-1)+\dots+5+2)}}{2^{2k-4} (2k-3)! (2k-2)! 2k(8k-4)} \times \right. \\ &\quad \left. \left(I - \frac{A^2}{2k(8k-4)} \right)^{-1} \frac{1}{4} A^{2k+(2k-2)+\dots+4+2} \right\|. \end{aligned}$$

It follows that

$$\begin{aligned} \left\| \left((B_{2k-2} \dots B_2)^{-1} \right) A_{2k-1}^{-1} B_{2k-1} \dots B_1 \right\| &\leq \frac{1}{2^{2k-3} (2k-3)! (2k-2)! 2k(8k-4)} \times \\ &\quad \left\| \left(I - \frac{A^2}{2k(8k-4)} \right)^{-1} \frac{A^{2k} A^{2k-2} \dots A^4 A^2}{A^{2k-1} A^{2k-3} \dots A^5 A^2} \right\|. \end{aligned}$$

Since $\|A\| < 1$, we get

$$\left\| \frac{A^{2k} A^{2k-2} \dots A^4 A^2}{A^{2k-1} A^{2k-3} \dots A^5 A^2} \right\| \leq \|A^{k-1}\| \leq \|A\|^{k-1} \leq \|A\|.$$

On the other side, when k is large, we have

$$\frac{1}{2^{2k-4} (2k-3)! (2k-2)! 2k (8k-4)} < 1.$$

By proposition 3.14, we finally obtain

$$\left\| \left(I - \frac{A^2}{2k(8k-4)} \right)^{-1} \right\| \leq \frac{1}{1 - \left\| \frac{A}{\sqrt{2k(8k-4)}} \right\|^2} < 1.$$

Which implies that

$$\left\| \left((B_{2k-2} \dots B_2)^{-1} \right) A_{2k-1}^{-1} B_{2k-1} \dots B_1 \right\| \leq |A| = \alpha < \frac{1}{2}.$$

The proof of the second inequality of Theorem 3.10 is similar to the first one.

References

- [1] L. DIECI, B. MORINI and A. PAPIN, Computational techniques for logarithms of matrices, SIAM J. Matrix Anal. Appl. Vol. 17, N. 3, pp. 570-593, july 1996.
- [2] T. L. HAYDEN, Continued fractions in Banach spaces, Rocky Mtn. J.Math., 4 (1974), pp. 367-369.
- [3] B. W. HELTON, Logarithms of matrices, Proc. Amer. Math. Soc., 19 (1968) pp. 733-738.
- [4] W. B. JONES and W. J. THRON, Continued Fractions : Analytic Theory and Applications, Addison-Wesley, Encyclopedia of Mathematics and its Applications, vol. 11, London, Amsterdam, Sydney, Tokyo (1980).
- [5] A.N, KHOVANSKI, The applications of continued fractions and their Generalisation to problemes in approximation theory,1963, Noordhoff, Groningen, The Netherlands (chap2).
- [6] L. LORENTZEN, H. WADELAND, Continued fractions with applications, Elsevier Science Publishers, 1992.

- [7] Gerard J. MURPHY, *C*-Algebras and operators theory*, (1990), Academic press, INC Harcourt Brace Jovanovich, publishers.
- [8] N. NEGOESCU, Convergence theorems on noncommutative continued fractions, *Rev. Anal. Numér. Théorie Approx.*, 5 (1977), pp. 165-180.
- [9] M. RAISSOULI, A. KACHA, Convergence for matrix continued fractions, *Linear Algebra and its applications* 320 (2000) pp. 115-129.
- [10] R. S. VARGA, On higher order stable implicit methods for solving parabolic partial differential equations, *J. Math. Phys.*, 40 (1961), pp.220-231.
- [11] P. WYNN, One some recent developments in the theory of continued fractions, *SIAM J. Numer. Anal.*, 1 (1964), pp. 177-197.